Math 142V final exam practice test 1 solutions
You must show all of your work and reasoning to receive full credit.
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[10] 1.4. Use partial fraction decomposition. Answer:
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Math 142V final exam practice test 2 solutions

You must show all of your work and reasoning to receive full credit.

[10] 2.1.
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[10] 2.4. Use partial fraction decomposition. Answer:
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[10] 2.7.
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Sesies Convergs
When x| 22
oo = 2
r= (-z,2)
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[10] 2.9. Use the integral formula for the area within a polar curve from 0 to 7.

Answer: 7.



Math 142V final exam practice test 3 solutions
You must show all of your work and reasoning to receive full credit.
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[15] 3.3. Use trigonometric substitution with x = 3 sin f. Answer:

% (9sin™! (g) v —a?) 3)
[10] 3.4. Use partial fraction decomposition. Answer:
%ln|2x+1|—|—2ln|x—1|+0 4)
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Math 142V final exam practice test 4 solutions

You must show all of your work and reasoning to receive full credit.
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[10] 4.2. Use integration by parts with v = Inr. Answer: convergent, with

1
value — T

[15] 4.3. Use trigonometric substitution with = = tan §. Answer: QJFT”.

[10] 4.4. Use partial fraction decomposition. Answer:

1 _ 1 /T
Eln (x2 + 1) + tan "tz — §tan ! <§> +C 5)
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[15] 4.6. Use the ratio test. Answer: radius 4, interval [—4, 4]
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a) t=+/x
y=In(vx) = %]n(x)
b)
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[10] 4.9. Use the integral formula for the arc length of a polar curve. Answer:

s (e + 1 - 1)
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